TJ—YIAERRTATS L syfr DHEREDHLIE
2010-5-15 H. M.
SARTRFEERTIOTSL VESTA (RELXRK) #F->T. 27— IARKEREZRTT %,
FDH, RIN_FEZHEDHERRERTHANENBFobs, Feal T—R I 7 A ILEFEHRAHA, syfr TO—Y T
ERLT-%. RFEEZ VESTA @ *»x 3ed D7 A IR TEETHT, ZD3edsX 7 7 1 JLEVESTATERA
ABHIE, SRERTHAHES,

C:¥usr¥axs>SYFR10. exe 170455 LDRE
<< SYFR V=2010 (2010/05/15) >>
NOTE 2 TMP. files are OPEN, No of ATOM.LE. 200, NDR=24000
file out in text files SYFRDAT. x or SYFR. 3ed IVESTARRIZIEZ SYFR.3ed AT 7
14
If crystal system is not ortho/mono/triclinic then read the document file!
You can read MEM parameters from memparam. txt
Input comment for this job (<72W)

TMATC-Mn 285K IMFLURNDHEI T 74 ILIZHT I+ HER
BAC

Input XFILE (1/0)=1 Im3F1EAND

Input XFILE file name=TMn285sg|-2. xra 1 ERT—2774)L% (WAE)

read XFILE TITLE=
TMATC-Mn (285K) 1995.1 BY N.Koshiji axial change 2010-3-28
Lattice const. = 15.62000 9.04600 24.67100 90.00000 89.94100 90.00000
Input RDFILE (0/1/2)=1 IRt T— 2 HHAAH T
read RD-FILE TITLE=
1.00000-2 0.71069 TMATC-Mn 285K single domain 2010-5-08 1.327 0.213
read RD number= 3664
Input APFILE (0/1/2/3)=1 |RFEZET— 2 5A AT
read from |API
read AP-FILE TITLE=

60 60 O TMATC-Mn (T=285) phase |11 axial change 0
Calc. F(hkl) 0=NO, 1=STANDARD, 2=EXTENDED
Input Structure Factor to calculate (2/1/0)=0 | &t T—% HFcal ZE DO, X

IDHVEOEERIEF (hkD) ZETESEH 2 &
MEM-file output 0=No, 1=Yes(Fo), 2=(Fc), 3=(Fo-Fc), 4=(Fc-Fo): Which=?0 IMEMZ 7 1 JUIEVERK
L7y

h= k= |= Fo= Ac= Bc= Fc= Fd= RLV= sigF=

0 0 2 5. 11 6.44 0.00 6.44 -1.33 0.04053 0.16
0 0 4 -220.73 -233.39 0.00 -233.39 12.66 0.08107 1.35
0 0 8 148.11 156.03 0.00 156.03 -7.92 0.16213 0.94
0 0 12 -65.07 -66.63 0.00 -66.63 1.56 0.24320 0.95
0 1 1 7.99 10.73 0.00 10.73 -2.73 0.05887 0.06
0 1 2 -2.12 -9.32 0.00 -9.32 7.20 0.06854 0. 11
0 1 3 -5.69 -2.36 0.00 -2.36 -3.33 0.08217 0.08
0 1 4 85.46 70.06 0.00 70.06 15.39 0.09812 0.4
0 1 5 -12.70 -8.75 0.00 -8.75 -3.950.11543 0. 11
0 1 6 -3.58 -6.01 0.00 -6.01 2.43 0.13357 0.27
Number of reflections= 3664
Sum of Fo= 71547.78  Sum of Fc= 72178.19
R= 0.07684 Scale= 1.00881
type of SYFR 0=NO, 1=Fo, 2=Fo*Fo, 3=(Fo-Fc)
To synthesis Fc, select SYFR=1 and |0P=9 l|ater.
Input type of Fourier synthesis (3/2/1/0)=1 IFobsDE R ZE 1T S
Input Scale factor for Fo (as 1.0)=1.0 IDERLUSME 1 TELY

|OP O=standard(as |FRA); 12=Fo-Fc synthesis
Fo 1=cent, 2=non-cent; DF 3=cent, 4=non-cent
Fc 8=cent, 9=non-cent; 10=Fc**2
|ODR1 (cut axis), I0ODR2(down axis), IODR3(right axis)
Please set |ODRn as 1,2, 3 when VESTA. 3ed out file!



Input IOP, I0DR1, 10DR2, I0DR3 (as 0,1,2,3) =0.1,2,3
T+ ME

Input SCLF, SFP (AS 1.0, 0) =1.0.0

VD= 3485.974 F000= 0.000

Input F(0 0 0)=1432

%
VD, FO00= 3485.974 1432.000

skx NO. of STORED REFLECTIONS= 7145

#xx RANGE of HZ, HX, HY <= 20 11 34

file out 0=No, 8=SYFRDAT, 16=VESTA3ed style ?=16
%) FIF12 (BDFREZZTOEFFLHN)

NSPACE, INEG, ITPO, NSHIFT, IPRT are 0 016 0 1
Input Number of Maximum Division (100)=100

file name for output Fourier syn. is SYFR. 3ed

ISYFR. 3ed® 4 D774 I HBHDT
17274 I)L ME

IARAT 74 LTREDHITFTAN

IVESTARH AIX16 (RDEEL O IZEMRT

|Efifa a8 &K

Input step, start, end points for cut-plane, vertical and horizontal axes!
Note: in case of VESTA. 3ed putput, devide unit cell with integer pixels !
eg. 4,0,100,1,0,100,2,0,100 if 25%100%50 pixels
Range of calcu. as 1,20,25,1,0,25 1,515 ?7=4,0,.100,2,0,100,1,0,100 I Z DHTIExERIE

0,4,8,..,1000255 T, y#hIX0,2,4,...,1000505 &,

zEH(1,2,3,..., 100010007 &I TH S, FEDHE

HEIBHLELGHESIC, BURSEIEXRE (1@) EXTyTRRERDD &,

MAXD X«D X+0 X«E Y«D Y*0 YxE Z+«D 7Z+0 ZxE
100 4 0 100 2 0 100 1 0 100
Fourier synthesis

TMATC-Mn 285K
Z= 0/100

Maximum= 4.018 AT 74 55 Minimum= -0.716
Z= 4/100
Maximum= 9.871 AT 70 41  Minimum= -1. 311
(HHRR)
Z=100/100
Maximum= 4.018 AT 24 95 Minimum= -0.716
Total charge in this range is 54811.10

at 4 61
at 78 37
at 4 61

PEAK MAX=  27.5599 at 40 24 38 PEAK min= -3.3055 at 60 86 62

Input Number of Maximum Division (100)=0
FANTRTTSI &

O0=end of job, 1=Restart Input=0
C:¥usr¥axs>

1274 ILEEREZFTLHENKSIZ0



